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AN AZHSD
M WHO A2 E Al JIEXH
Sl AYTA BH Y L 2Y CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
HALEAl FIHE HRYE 22 8,000 0 8,000
201 £B-2d| 8,000 0 8,000
01 At 22l 8,000 0 8,000
O1 get==&Hl 8,000
P=MSE2 A=z g2 HH
2,000,000 »34! 6,000
P=MESa 222 WA 2,000,000& »14! 2,000
Izs1 84 343,000 373,000 A30,000
o T8 X 125,000 125,000 0
307 21201 A 125,000 125,000 0
04 QIZFHALAIH B & 125,000 125,000 0
OZzs+ =d¢dl XN& 125,000, 0003 14 125,000
Z2s7 830 #HAXZ 130,000 160,000 230,000
307 21201 A 130,000 160,000 230,000
04 DIZHHALALSE E X 130,000 160,000 /30,000
OZ=2=s+ 230 dAMXA
130,000, 000 14 130,000
27 BIUUZEHE SEAMXE 70,000 70,000 0
201 et 70,000 70,000 0
03 & Ar2 I 70,000 70,000 0
OZz2s+ HIHZZE SR
70,000,000& =14l 70,000
EadE HEsPEE 294 18,000 18,000 0
201 LBt 3,000 3,000 0
01 At 22l 8l 3,000 3,000 0
O6 21z 3,000
DRrAYE s2UE XHE X
3,000,000& » 14 3,000
307 21201 A 15,000 15,000 0
04 DIZHHALALSE E X 15,000 15,000 0
OFAY HE=s7EZ 2E 15,000,000 =14 15,000
AN AHLSH 100,000 100,000 0
NS A22el M- XA 100,000 100,000 0
307 gl2tol & 100,000 100,000 0
02 It HAHE L 100,000 100,000 0
OXEE A2 2el AtgH X2
100,000, 000& * 14 100,000
AMETH=EEd3 5,752,359 5,676,295 76,064
J| 244,932
< 269,792




2N
X ZH -
L= B

el

A2 =S
AN E&d st
dE2Ms=sd

SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
Al 5,237,635
NEAESESY 3,622,371 3,763,953 N 141,582
AE2sEIIE 4K 1,419,960 1,635,435 N215,475
301 LBt A= 1,419,960 1,415,435 4,525
0z - 2ELSEAS 1,419,960 1,415,435 4,525
OME %4 U ARM 2% =8|
6,000,000& * 14! 6,000
OAagE (g4, 24, 95) =4 22 15,600
>DEIRS 80,0003 *3 A x12& 2,880
DAMSIEERS 20,000& *3M A x12& 720
> 2tel dl 150, 000& *34 A~ x12& 5,400
> S Al JEAHI 100,000 *3) A x12& 3,600
>OoIEHY, SAASHH 50,000 *3 A x12€ 1,800
> Xt Xkl 100, 000& *1LH 100
DEEINNEES 100, 000& ~1CH 100
>PEES(58AE) 1,000, 000& *1CH 1,000
OAgE XK X 3,000,000 x4l 3,000
OadE XX ol2A4H| 368,564
>IIE23(20, 628 1682 AH)
3,221,900& 62! x12& 231,977
>EZSE 3,221,900& 621 x50/ 100%2& 19,332
>YEFIHH| 3,221,900€ x621 %60/ 100%2& 23,198
DEgsd 350,000 621 x12& 25,200
> == 50,000& x621 x12& 3,600
> 2 Al 250,000 621 x12& 18,000
>t e 100, 000& x6Q2!1 x 12& 7,200
) e 80,000& =621 x12& 5,760
>INE8Ea 334,266,000 x1.5/100 5,014
DAMEE S 334,266,000& *1.1/100 3,677
D=0AAEBHS 334,266,000% *3.06/100 10,229
DEIRLALEHS 10,229,000 *3.275/100 335
>=0d32 334,266,000 *4.5/100 15,042
Oagg &d bl 80,000,000 =14 80,000
OaldE &= oAHH| 682,841
PIlE3 (80, 78 952 AtY)
2,358,200& 1501 x12& 424 476
DAY 2,358,200 x15Q1%50/ 10028 35,373
>YESFIHI 2,358,200 1521 %60/ 100*2& 42,448
>EdsE 350,000& 1501 x12& 63,000
> == 50,000& «15Q1 x12& 9,000
> g Al 250,000& 1501 x12& 45,000
PNEaBdEs 619,297,000& x1.5/100 9,290




SN ASHSD
H: ANOXHESEHS
Sel: MRS S CEEEED
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
DAEE S 619,297,000 x1.1/100 6,813
D=OAAEEZ 619,297,000 *3.06/100 18,951
DEAJIQABEZ 18,951,000& *3.275/100 621
D=ROUAZIEES 619,297,000& *4.5/100 27,869
O=2JHE =¢ 400,000 321 x12& 14,400
O3 EAH(DE, 54, 54)
80,000& #2121 x5 53] 42,000
OHXEUHI (AT, 54, =4)
80,000& #2121 x10L %23] 33,600
QulEE S (x4, 24)
60,000& x2121x12& 15,120
O=2UHUs ZAa3 15,000,000& * 14! 15,000
O=HU3z ZAZ 15,000, 000& » 14! 15,000
OAHE M=ot 2FEH| 150,000&*35 S 128 5,400
OUYE d4g AT 2
100,000& *3& =+12& 3,600
OASE AF Y 7,000
DEt=2AAA AW AZIH 2,000,000 «14! 2,000
Det=2AAdFAAM AJIHl 3,000,000 14 3,000
DEt=2AASAAB AZH 2,000,000 *14] 2,000
OASE I=H| 52,780
DEHE(HT KA =2A) 250,000& *x2121 23] 10,500
>DEds 200,000& 2121 %23] 8,400
>AJS 200,000 1501 %23] 6,000
DT-H= 65,000& x2121%x23| 2,730
> etsts 250,000 21021 *13] 5,250
>AIsH=A) 200,000& *501 x23| 2,000
>AISHEE) 200,000& 521 x23| 2,000
>AIOIABHSE &) 300, 000& 501 x23| 3,000
> el st 200,000& 21021 %23] 8,400
> EOI = 150, 000& * 15021 x23| 4,500
Oog9cds S8 EH 7Y 18,500
DHEEE 1,500, 000& *x2H 3,000
S e s 1,000,000& *10= 10,000
>HIEOHE 500, 000& =24 1,000
>ESH 150, 000& #5901 %23 1,500
DIREH(SEIR) 200,000& 2L x53| 2,000
Ddle 200,000 «5¢01 1,000
O=dds 28 HH 2L 7,095
>2dBE 200,000& *501 x23] 2,000
>OIE 100,000& *4 = %23| 800
Dol =010 150, 000& *50H 23] 1,500
DOISA OA 15,000& * 1504 *33| 675




SN ASHSD
M. ANOIME2Y3E
Sel: MRS S CEEEED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
> eAESH 20,000& x5CH 23] 200
> 8,000& 20 12& 1,920
OsMH+ 2FH 2Y 4,460
DYEAIHE 150, 000& *5JH 750
>EE 50,000& =34 150
DO AE 300, 000& *3H 900
>aE 40,000& *5H 200
DI HFE 80, 000& =2 160
>olsE 350, 000& *4 4 1,400
>AEIEHEH 300, 000& =34 900
OAgE gAaZ 6,000,000& x5Q1 30,000
ZRAEUM=EUH =& 290,000 300,000 A 10,000
307 QI2t0| M 290,000 300,000 A 10,000
04 DIZHSHAFAIRE 2 X 290,000 300,000 A 10,000
OHMIB3g 2o HEUH &H
290,000,000& * 14 290,000
HdE2H=E S4KA 1,912,411 ,828,518 83,893
201 LEt2 Y| 30,000 0 30,000
01 AR 22| bl 30,000 0 30,000
O1 etx=2H| 30,000
DARFC =& 0| &1y 30,000,000 * 14! 30,000
307 QI2t0| M 924,254 926,708 N2,454
02 DI2HEAAIEE X 624,254 626,708 N2, 454
Od=ZHME g43 XN 250,000,000& * 14 250,000
ONEM=EXNZX 249 374,254,000 x 14 374,254
B OIAHMYBPI2IHIEX 300,000 300,000 0
ONMEIMNB= 24 300,000,000& * 14 300,000
308 AHXI S M SO0l & 958,157 901,810 56,347
08 WEII2MstE = 958, 157 901,810 56,347
Ox -8 N=sgds AA
180,000, 000& =14 180,000
Ox -8 NN XA
778,157,000 * 14 778,157
MEXNESEH 1,839,988 610,532 229,456
J| 244,932
= 269,792
Al 1,325,264
L2EHSHA Oz & XA 16,360 16,360 0
201 LEt2HY| 1,000 1,000 0
01 AFR2t2l bl 1,000 1,000 0
O1 etx=2H| 1,000




2N
X ZH -
L= B

el

0z =¥

2 H =
SMEEd3s
gMs=4d

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
P2AE dsds 23X 32 WM
50,000& »20¢! 1,000
202 O4dl 11,760 11,760 0
01 LHOI I 11,760 11,760 0
OMsdEA g2=2 980,000& »12& 11,760
301 L2 A S 3,600 3,600 0
09 BAHAIYI & &2 3,600 3,600 0
OdEN=ANCA w=s0t
50,0003 x12Q1 x3 23] 3,600
2RSS XA HHEl | 55,000 55,000 0
307 glz2tol & 55,000 55,000 0
04 QIZFHALALH E = 55,000 55,000 0
OZJZ XAl sl & 55,000,000& =14 55,000
AFAMEII() S=E U3l M= 130,000 130,000 0
307 21201 A 130,000 130,000 0
04 QIZFHALAIH B = 130,000 130,000 0
02018 IF=AIEII () S8 U3l Nz
130,000, 000& 14! 130,000
BFA H2HAE HsCHE KA 20,000 20,000 0
307 glz2+ol & 20,000 20,000 0
04 QIZFHALAIH E = 20,000 20,000 0
02018 dFAl HEAAME HSUS HAE
20,000,000& » 14! 20,000
nsstn Hg Msa = 120,000 220,000 A 100,000
307 glz2tol & 120,000 220,000 A 100,000
04 DIZHHALALSE E X 120,000 220,000 A 100,000
02018 Nsstw HE MU Nz
120,000, 000& 14! 120,000
=X MIHECNEH U IHF 35,000 35,000 0
307 gl2tol & 35,000 35,000 0
04 DIZHHALALSE E X 35,000 35,000 0
OM138l JFXItHl M=HEE NS HA
35,000,000& =14 35,000
EFAZU HIHUAUE KA 35,000 35,000 0
307 21201 A 35,000 35,000 0
04 QIZFHALAIR B = 35,000 35,000 0
OHM14sl AU &=ELIALE JHEF
35,000,000& »14! 35,000
AF=AIEH 2T SEHSZUS 0 A 15,000 15,000 0
307 21201 A 15,000 15,000 0




2N
X ZH -
L= B
el

2 H =
SMEEd3s
gMs=4d

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
04 DI2HHALALSE E X 15,000 15,000 0
OHM14al F=AEH ZJAE 22U N
15,000, 000& 14! 15,000
XU =W ZAUE OHE 35,000 35,000 0
307 glz2tol & 35,000 35,000 0
04 DIZHHALALSE E X 35,000 35,000 0
OMME JF=XItH =L A =
35,000,000& =14 35,000
AFAIEH ZRASTAZ =220/ HE H=E 10,000 10,000 0
307 21201 A 10,000 10,000 0
04 DIZHHALALSE E X 10,000 10,000 0
OHMosl A=A ZRAETAZ=ZC0ILHS
N =l 10,000, 000& * 14 10,000
=X OtetENSE = 35,000 35,000 0
307 21201 A 35,000 35,000 0
04 QIZFHALAIH B = 35,000 35,000 0
OxM16al =X OttEU2 HEF
35,000,000 =14 35,000
FFXAU ctRE QLEERUS WA 12,000 12,000 0
307 glz2tol & 12,000 12,000 0
04 QIZFHALAIH B = 12,000 12,000 0
OXM132 FFXH X2 QLEE AU HA
12,000, 000& 14! 12,000
XI dI0r2U3 = 25,000 25,000 0
307 glz2+ol & 25,000 25,000 0
04 QIZFHALAIH E = 25,000 25,000 0
OMI10&8l XD 8=0r2UE KA
25,000,000 =14 25,000
XA d==0U2 K 35,000 35,000 0
307 gl2tol & 35,000 35,000 0
04 DIZHHALALSE 2 X 35,000 35,000 0
OM1038 =X 8=2=72U3 Nz
35,000,000& =14 35,000
F=AEH =203 KA 35,000 35,000 0
307 21201 A 35,000 35,000 0
04 DIZHHALALSE E X 35,000 35,000 0
OHgsl AFAIZEH 822U N
35,000,000& =14 35,000
XU M= SEUYE s2UE WA 30,000 0 30,000
307 21201 A 30,000 0 30,000




A HdZH=H
M AQHSEAS
Sl MEUSSY CERED
5 - 4
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
04 SIZ2ISHAAIH E & 30,000 0 30,000
OFFXN2 =22 UHes2U M=A
30,000,000 = 14! 30,000
Bie A 20t2tEUHE = 8,000 8,000 0
307 2Iz2to| A 8,000 8,000 0
04 SIZ2HSHAAISH E & 8,000 8,000 0
OHM103 2o =202t EW S HE
8,000,000 =14l 8,000
FEXA =2 =510 EHE =S N 30,000 30,000 0
307 212t0| ™ 30,000 30,000 0
04 SIZ2HSHAAISHE E X 30,000 30,000 0
02018 FFXAU =2 =510 EBIAZUS N
x| 30,000,000& = 14! 30,000
T2 FFEN A 60,000 0 60,000
=} 30,000
Al 30,000
307 QI2t0| ™ 60,000 0 60,000
= 30,000
Al 30,000
04 CIZ2tSHALALS B X 60,000 0 60,000
02018 Z2MEZz=d |FE0NH A
60,000,000 x 1Al 60,000
= 30,000
Al 30,000
ZEFC FF=U3 N 50,000 50,000 0
307 QI2t0| ™ 50,000 50,000 0
04 CIZ2tSHALALS B X 50,000 50,000 0
02018 Z =EFC | =013 M=
50,000,000 x 1Al 50,000
e FAEE2UE A 8,000 8,000 0
307 2iz2to| & 8,000 8,000 0
04 DIZ2LSHALALS B = 8,000 8,000 0
02018 2 U s K420 H=
8,000,000& =14l 8,000
HdM=sgs Nd 4,000 4,000 0
307 2iz2to| A 4,000 4,000 0
04 SIZ2ISHAAISH E & 4,000 4,000 0
od=zgs N 4,000,000 x4l 4,000
AEHGH)| SEHIHS W= (23HAN) 2,000 2,000 0
307 gizto| A 2,000 2,000 0
04 CIZ2tSHALALS B X 2,000 2,000 0




A HdZH=H
M AQHSEAS
ool MERSSY CER-ED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OAEHG0| SEta M= (=3HAN)
2,000,000 =14l 2,000
olselsHaE 29 I3 6,000 6,000 0
307 2Iz2t0| A 6,000 6,000 0
02 QI AAIRE E X 6,000 6,000 0
oolzselHEA 249 X 6,000,000 x14! 6,000
2SI AFI(BH)CHE ¥ €3 ZRI|IHE &8 X 57,000 57,000 0
307 2iz2to| A 57,000 57,000 0
04 QIZ2tSHAFAFS B X 57,000 57,000 0
OLLKAXADII(HH) Ha & Ea3&IUa =
X 57,000,000 = 14! 57,000
HEed e &8 X 10,000 10,000 0
307 2Iz2to| & 10,000 10,000 0
04 SIZ2ISHAAISH E & 10,000 10,000 0
OZ24 e & 10,000,000 =1 Al 10,000
Z2ATUMETY EUZ =2 80,000 80,000 0
307 2izto| A 80,000 80,000 0
04 OIZ2tSHALALS B X 80,000 80,000 0
OHM263 2R MEHYEUZ =&
80,000,000 x 14! 80,000
2T HEAN MEHSUHI &2 15,000 15,000 0
307 2Iz2t0| & 15,000 15,000 0
04 SIZ2SHAAISH E & 15,000 15,000 0
OHM133 22T HEA MENFUHS =N
15,000,000 « 1Al 15,000
LASMOICENHS =X 5,000 5,000 0
307 212t0| & 5,000 5,000 0
04 SIZ2HSHAAISH E & 5,000 5,000 0
OHNZ273 ZRANOICIENHS &
5,000,000 =14l 5,000
AZX2ALN ol2d X 185,280 160,000 25,280
J| 129,696
o 27,792
Al 27,792
301 et A= 185,280 160,000 25,280
J| 129,696
= 27,792
Al 27,792
01 Al E& A %52 185,280 160,000 25,280
OA2Z=2% ol2d &
80,000& x193021 x12& 185,280




SN ALHSD
M AN MsEdst
ool MERSSY CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Jl 129,696
< 27,792
Al 27,792
MEHSXNEN 85 XA (3H]) 128,040 204,864 AT6,824
J| 64,020
Al 64,020
307 glz2tol & 128,040 204,864 AT6,824
J| 64,020
Al 64,020
02 It M AHE L 128,040 204,864 NT6,824
OMENESXNEZI &5 XA
2,134,000& 501 x12& 128,040
J| 64,020
Al 64,020
24 dM=sgs X (34l) 102,432 102,432 0
J| 51,216
Al 51,216
307 gl2tol & 102,432 102,432 0
J| 51,216
Al 51,216
02 IZHE M AIHE L 102,432 102,432 0
Onz2d H=2g8s XF 2,134,000 «421«12& 102,432
J| 51,216
Al 51,216
MENsZzOY 22 24,000 19,200 4,800
< 12,000
Al 12,000
307 glz2+ol & 24,000 19,200 4,800
= 12,000
Al 12,000
02 It A AMHEE 24,000 19,200 4,800
Odarsus 24 24.,000,000& =14 24,000
< 12,000
Al 12,000
MEXNSAEXt g5 A& 14,584 13,784 800
307 21201 A 14,584 13,784 800
02 ItFAAHE X 14,584 13,784 800
OMeRs LBRIEZ X BHXIAIY &03
1,823,000& /2%821 23] 14,584
Hza dMsgs N 7,292 6,892 400
307 21201 A 7,292 6,892 400
02 YAFAANGFEX 7,292 6,892 400
OdEN= HEMXEX BHXIALY &0
1,823,000% /2%401 %23 7,292
Colste XY HAEE sl WA 400,000 0 400,000




22 H =S o
AN =S8dst
MEHS S (ol @)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
== 200,000
Al 200,000
307 glz2tol & 400,000 0 400,000
< 200,000
Al 200,000
04 QIZFHALAIH 2 = 400,000 0 400,000
Oz8lste XNINGHAEE Ha
400,000,000 =14l 400,000
= 200,000
Al 200,000
2s s4 165,000 155,000 10,000
FFz02 29 NE 60,000 50,000 10,000
201 £B-2dH| 10,000 0 10,000
01 At 22l 10,000 0 10,000
O1 g2t 10,000
PREFZ01Z2 2RAXE ME
1,000& x5,000% 5,000
PRAFZ01Z2 HAEZE HA 5008 10,0005 5,000
307 21201 A 50,000 50,000 0
02 It S AHE L 50,000 50,000 0
O=z0l2 ZHlAY 50,000,000 =14l 50,000
A=2HZII0a 4= 80,000 80,000 0
307 glz2tol & 80,000 80,000 0
04 DIZHHALAISE E X 80,000 80,000 0
OHMe4sl A=2MZIIU3 Nz
80,000,000 =14l 80,000
A=A 2O 25,000 25,000 0
307 gl2tol & 25,000 25,000 0
04 DIZHHALALSE B X 25,000 25,000 0
OHM148 At 2o/t d JH =
25,000,000& =14 25,000
ool desd 125,000 146,810 221,810
ZOHe M=g2s N 55,000 50,000 5,000
307 21201 A 55,000 50,000 5,000
02 QB AAHEX 55,000 50,000 5,000
O&e M= s4XF  25,000,000& 14 25,000
OZOMY MEMs 243 N
30,000,000& =14 30,000
T MEM=SUHE = 40,000 40,000 0
307 21201 A 40,000 40,000 0
04 DIZHHALALSE E X 40,000 40,000 0




AN AZHSD
M AN HsEHs
el ZH MESs4 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OMMal LASHMY MEMIUHE =&
40,000,000& =14 40,000
ZOofel A= @A i E 30,000 30,000 0
307 gl2tol & 30,000 30,000 0
04 DIZHHALALSE E X 30,000 30,000 0
OB AZ=x HAF OHE 30,000,000 14! 30,000
HMESAEts 2,491,472 1,706,237 785,235
< 955,000
Al 1,536,472
MEHSAEEHS 2,271,752 1,459,716 812,036
< 955,000
Al 1,316,752
ST 28 MEMSAE & 100,720 301,080 A200,360
401 Al HI K 201 I 100,720 301,080 200,360
01 A& HI 100,000 300,000 A 200,000
OSuSi &8 MEHMSAME X (ns2Hl)
100,000, 000& * 14! 100,000
03 Al 2 THHI 720 1,080 A 360
OAZ =Rt 720,000 » 14 720
HOIEEE =4 154,120 154,120 0
401 Al HIZ 2018 154,120 154,120 0
01 A& HI 150,000 150,000 0
OAOIEEH 43 AM 150,000, 000 14 150,000
02 Zeltl 3,400 3,400 0
OZeltl 3,400,000& » 14! 3,400
03 A& SR THHI 720 720 0
OAIZ2 24l 720,000& » 14! 720
BFE AxH SLAHOESE NLAE &X 80,720 0 80,720
< 40,000
Al 40,720
401 AIEHI L 2 CHYI 80,720 0 80,720
< 40,000
Al 40,720
01 A& HI 80,000 0 80,000
OSZAHOESE NSAE &
80,000,000& =14l 80,000
< 40,000
Al 40,000
03 Al 20 HI 720 0 720
OAIZ SR HHI 720,000 » 14! 720
TEHSZ W d3LH(EHY) X3 AM 321,008 0 321,008
S 160,000




M AIHF
L

g MSAMEES
A

2. MEXSALEES (chel & 9l)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
Al 161,008
401 Al HI L 2 THHI 321,008 0 321,008
< 160,000
Al 161,008
01 Al&EH| 320,000 0 320,000
ESHSE2 W o228 (20HE) EX2A
320,000,000 « 1Al 320,000
& 160,000
Al 160,000
03 AlE 21| 1,008 0 1,008
OAIE 20t 1,008, 000& x 14! 1,008
EHE M SCHX W ARHAE HEZ2A 201,008 0 201,008
= 100,000
Al 101,008
401 AlEHI R 2 OHYI 201,008 0 201,008
< 100,000
Al 101,008
01 Al& H| 200,000 0 200,000
OAFHAE HE=ZBA 200,000,000 * 1Al 200,000
o=t 100,000
Al 100,000
03 AlE 201 Y| 1,008 0 1,008
OAIZ 20| 1,008,000 14! 1,008
222 HNOIEESR stHMNM (=2, 32]) 180,720 0 180,720
& 90,000
Al 90,720
401 Al HI L = THYI 180,720 0 180,720
< 90,000
Al 90,720
01 Al& b 180,720 0 180,720
OAxH £ HOIEESZ SHIMNM(=22,3
2l) 180,000,000 =1 4! 180,000
=} 90,000
Al 90,000
OAlIE 20l 720,000 =14l 720
Ao =& SHINA 30,000 0 30,000
= 15,000
Al 15,000
401 Al HI L =2 Tl 30,000 0 30,000
< 15,000
Al 15,000
01 Al&H| 30,000 0 30,000
o E3& sH3A 30,000,000 x 14! 30,000
& 15,000
Al 15,000
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Ce: MENSAEESE (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
SR 12X MESAE JisES 201,440 0 201,440
== 100,000
Al 101,440
401 AIEHIZL 201 Y| 201,440 0 201,440
o= 100,000
Al 101,440
01 Al&H| 201,440 0 201,440
OSYR RRU=X HSANE JsE22
200,000,000 * 1Al 200,000
& 100,000
Al 100,000
OAEE0Hdl 1,440,000 1Al 1,440
st MI3sT A& Al 501,008 0 501,008
= 200,000
Al 301,008
401 AlEHIZL £ 0HY| 501,008 0 501,008
= 200,000
Al 301,008
01 Al&H| 501,008 0 501,008
Ostd MaaZTd Ald 500,000,000& * 1Al 500,000
= 200,000
Al 300,000
OA&EE 0] 1,008,000 x 14! 1,008
20435 22" & x4 501,008 0 501,008
& 250,000
Al 251,008
401 AlEHIZL 2 0HY| 501,008 0 501,008
& 250,000
Al 251,008
01 Al&H| 501,008 0 501,008
O2ag ma=cd® =4 500,000,000& * 1Al 500,000
o= 250,000
Al 250,000
OAl&E S0t 1,008,000 = 14! 1,008
SHHSANEES 219,720 246,521 N 26,801
sSHHSAE &X &L K22 219,720 246,521 N 26,801
201 et d| 19,000 19,000 0
01 AFR 2t 2| bl 4,000 4,000 0
O1 LBt==H| 4,000
DEUMSAE 228 2|
4,000,000 « 1Al 4,000
02 22244l 15,000 15,000 0
O1 222 2 HA 15,000
DEHMESAE 2222 15,000,000 = 1Al 15,000




M AIHF
L

M HMESALES
el SUMSAES (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
401 Al HIZ 201 Y| 200,720 200,720 0
01 A& HI 200,000 200,000 0
OSUMSEAE X & 2=
200,000,000 =14 200,000
03 AIE 2 THHI 720 720 0
OAE =TI 720,000 » 14 720
S zel 1,971,077 1,674,500 296,577
Xl 500,000
< 233,000
Al 1,238,077
HE33x4 1,971,077 1,674,500 296,577
Xl 500,000
= 233,000
Al 1,238,077
2F HEMSHX 07 25 (SR MEHsSE 1,971,077 1,674,500 296,577
THEAMNY)
Xl 500,000
< 233,000
Al 1,238,077
401 AIEHIZ 28I 1,971,077 1,674,500 296,577
Xl 500,000
< 233,000
Al 1,238,077
01 A& Bl 1,966,667 1,659,000 307,667
OFEHEMSHXOIRE &5 1,966,667
> & XI 0 2 Hl 300,000,000 =14 300,000
> 2 AHHI 1,666,667,000& 14 1,666,667
Xl 500,000
< 233,000
Al 933,667
03 A& S THHI 4,410 7,500 A 3,090
OAl& 2| 4,410,000& * 14| 4,410
HE2IAZH (A=) 73,236 72,388 848
lEIH (A=) 39,736 37,632 2,104
ol 2l 39,736 37,632 2,104
101 @124 dl 39,736 37,632 2,104
01 2= 39,012 37,632 1,380
OAlZte 284 10,003 & 1321 x300A| 2t 39,012
03 RIHAZ 2 E =+ 724 0 724
ogaEzz2+% 724
DEAEMI(SUMSAE 2el)
12,0663 » 12«60 Al 2+ 724
Jl2Zd(A2Hd=sa) 33,500 34,756 N 1,256




2AN: A=
M HMSAHH (ALAS)
o©el: Jl2dg (A2 M=) (e &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
JlE23Hl 33,500 34,756 N 1,256
201 Bt H | 22,460 21,676 784
01 AP 22l Yl 20,302 19,536 766
O1 dEtx=2H| 16,558
DEMNSY HALLEZH (2AK 2 155)
14,508,000& =14 14,508
>DOelg) EY, EY 300,000& *=5CH 1,500
DAAHSE T2 B (EST) g0l
550,000& =14 550
O5 2 &l 3,744
Dottt - 5222 8,000& x1321x33| x12& 3,744
02 35244l 2,158 2,140 18
O1 222=2 % HA 1,158
>DRERZ 1,930 x50 12& 1,158
O3 A& &Hl Rl 1,000
> = A R X B 500,000& *1CH *23] 1,000
202 04| 8,040 10,080 N 2,040
01 2LHOHI 8,040 10,080 N 2,040
OJleg2s+8uy| 420,000& *12& 5,040
OAHLZAl =& S 22 048] 3,000,000 1A 3,000
203 ¥R =AY 3,000 3,000 0
04 BN &yl 3,000 3,000 0

L] 250,000 12& 3.000




